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AN FHMEHD
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Z M & Mt 16,263,425 15,590,795 672,630
= 1,183,096
Xl 9,222,000
< 5,778,329
£ 80,000
ANE3Hsd 16,170,607 15,484,956 685,651
= 1,183,096
Xl 9,222,000
< 5,685,511
£ 80,000
NEZH &4st 891,348 864,608 26,740
ZH, D A EEH GRFA 119,348 122,108 AN2,760
201 2et24d] 75,600 77,760 22,160
01 At 22l 75,600 77,760 22,160
OZHMEAZO0F GR2FE S(OIAEZ 10%) 75,600
202 O4dl 2,700 2,700 0
01 =S LHAYI 2,700 2,700 0
OZHMEHILFTX (0 &AHEZ 10%) 2,700
203 R =&l 38,048 38,048 0
03 A F=XH S =AY 38,048 38,048 0
OXNSZHMESSAHFE (0l &E 2 5%) 22,563
OZHSAAH#FX (0l &E2 5%) 11,875
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09 HALAHIEA S 3,000 3,600 A 600
OZ N2t HAAMHEAZ 3,000
ZMZ Y 372,000 362,500 9,500
201 £B-2%H| 117,000 112,500 4,500
01 At 22l 117,000 112,500 4,500
OZMHUIE 2030 =& &g 2 EHIH(HAMEZ 10
%) 72,000
OZH&" 2Atdl 2 45,000
307 2Iztol A 205,000 205,000 0
02 RIZFEA MM E X 200,000 200,000 0
Osd &st2t FEAY 200,000
04 DIZHHALALSE E X 5,000 5,000 0
OsgadamNEd 5,000
308 XXM SO0l 50,000 45,000 5,000
10 B2 S0 B&HAE AR 50,000 45,000 5,000
OXNYZH = AL 50,000




2N

X ZH
S =

el

SRS ESEan)
CAGEMHEY
NS BH 243t

= — = 4 &
SH BB S (3H) - NRAY - BAS of 4 o4 il HI RS2
dNsEES 400,000 380,000 20,000
308 XXM SO0IH 400,000 380,000 20,000
10 I/ 2S0Hetd &S 2 & AL I 400,000 380,000 20,000
OsE3NANUSALE 29 400,000
FS4Y 28 2 AN 6,709,546 5,048,517 1,661,029
2 25,096
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403 XM SA=01A 1,300,000 500,000 800,000
Xl 1,300,000
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01 HASHHN=ExE 600,000 610,000 A 10,000
OHSAE 3SSUS 2 LANSAE X2 600,000
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201 Bt 9,130 9,130 0
02 =224 H| 9,130 9,130 0
O=ESHIIAGA EHOIA ¥ R2HY SAE% 9,130
308 XHXIGHH SO0l & 92,680 92,680 0
01 IXHHIMNEXS 92,680 92,680 0
OS2 A 243 AFY 70,000
OZ2IIE2AN BLEHE 29 22,680
A EH AN 243 8,519,713 8,071,831 447 882
= 1,158,000
Xl 4,809,000
= 2,472,713
£ 80,000
L ReEHSALY 5,247,900 4,590,300 657,600
Xl 4,189,000
& 1,058,900
306 52 190,000 0 190,000
01 52 190,000 0 190,000
OAMBIEHAM HAYotE 222 (WA= 190,000
307 QI2t0| & 360,000 0 360,000
02 AI2tAAMAIE E =X 360,000 0 360,000
OAMSEEH Z2EEF HEHSH 360,000
308 XAXIEHSOIA 4,607,900 4,590,300 17,600
Xl 4,189,000
o=t 418,900
01 AIXSHMEMNEX= 4,607,900 4,590,300 17,600
O XtelzEAY 4,607,900
Xl 4,189,000
& 418,900
403 XX SHHS K20 & 90,000 0 90,000
01 XIS A=Z2E X 90,000 0 90,000
OABIED|Y Al EH X 90,000
AMNSEEZ2 XS 254,928 246,388 8,540
Xl 225,000
=} 29,928
308 MXISHMSOIA 254,928 246,388 8,540
Xl 225,000
o=} 29,928
01 IXHHIMNEEXTZ 254,928 246,388 8,540
OAMNzIEEgZE XA 254,928
N 225,000
= 29,928
A ONEH] X & 1,081,171 1,051,786 29,385
= 958,000
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= 123,171

308 XXM SO A 1,081,171 1,051,786 29,385
= 958,000
< 123,171

01 IXNHHBNEES 1,081,171 1,051,786 29,385
OArZ IHEHl X & A 1,081,171
= 958,000
< 123,171

ANl R (ZESSAIY) 285,714 192,857 92,857
= 200,000
< 85,714

307 21201 A 285,714 192,857 92,857
= 200,000
< 85,714

02 QIAHFAAFEX 285,714 192,857 92,857
OXY(2A)SstAY 285,714
= 200,000
= 85,714

AN HEN AHNR S X L3t 816,000 986,000 A 170,000
= 776,000
£ 40,000

201 £B-2dH| 36,000 36,000 0

01 At 22l 36,000 36,000 0
OMSIHZH SHXE AL (MAE2Z 10%) 36,000

307 glz2tol & 580,000 540,000 40,000
< 540,000
£ 40,000

02 QB LA EE 380,000 340,000 40,000
OA=l &M 2HEsIt |54 300,000
OMIIZZHMIILL SHole ALEEZ W= 80,000
< 40,000
£ 40,000

05 RIZt2E = 200,000 200,000 0
OsEA2ZHE N XN3AUEH 29 200,000

308 XtXIEHH SOl A 200,000 95,000 105,000

01 HXNHHNBHELS 105,000 0 105,000
OMIEZMIIY BEEH 29 105,000

10 B2 SOHUHSZAEEALS I 95,000 95,000 0
OA2IHZH S&As =4 95,000

MEEHAH WEHD 75 190,000 140,000 50,000
< 150,000
g 40,000

307 21201 A 190,000 100,000 90,000
< 150,000
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A (oarE2) 110,000
Ostugs=xg o 80,000
< 40,000
£ 40,000
0IS01g |84 338,000 409,500 271,500
X 260,000
= 78,000
308 XXIEHHSOIA 338,000 409,500 271,500
Xl 260,000
< 78,000
01 AXNHHBANEES 338,000 409,500 A 71,500
onsJly s4 338,000
X 260,000
< 78,000
0221y 248 s N& 270,000 250,000 20,000
Xl 135,000
< 135,000
307 glz2tol & 270,000 250,000 20,000
Xl 135,000
< 135,000
05 RIZHRI & 3 270,000 250,000 20,000
OS2I X &2 270,000
Xl 135,000
< 135,000
olgiotEoley |4 36,000 30,000 6,000
308 XXM SO A 36,000 30,000 6,000
01 IXNHHBNEES 36,000 30,000 6,000
oudiotEJIg=s4 36,000
HUX ==2el 50,000 0 50,000
HASEE HALHALE 2SAY 50,000 0 50,000
403 TtXI &M E A0l 50,000 0 50,000
01 XM A=2EE 50,000 0 50,000
OMASE JIAGHAIE A2FALS 50,000
HE2IAZH (FME ) 92,818 105,839 A 13,021
223H (ZHE 1) 92,818 105,839 A 13,021
JI2Z8 (2 HE &1 92,818 105,839 A 13,021
201 Let2d ] 42,400 49,060 A 6,660
01 At 22l 41,400 48,060 A 6,660
OZHEBHHE= 41,400
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02 =224l 1,000 1,000 0
02323 % HA S 1,000

202 oddl 40,158 46,764 A 6,606

01 S LHOYI 40,158 46,764 A 6,606
OZHEHIR2FX (M &EZ 10%) 40,158

203 B R =&l 10,260 10,015 245

01 J1228 2= 6,270 6,270 0
OZHSaa(0l&E2 5%) 6,270

04 FN2IELSZ=TH 3,990 3,745 245
OZHZE (0l &EZ 5%) 3,990




